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1) Decrease 50 by 44% 2)  Convert the following improper 3) 49 - (-65)
fraction 62/6 + 34/9 into amixed
number
Answer: Answer: Answer:

4) (-19)x 18 5) 6 Yyp-6 U 6) Convert the following improper
fraction 1% + 1%/, into amixed
number

Answer: Answer: Answer:

7)  Convert the following improper 8) 13/11 + 5/3 9) Convert the following improper
fraction 14/ + 1%, into amixed fraction 3%/, + 48/, into amixed
number number

Answer: Answer: Answer:

10) 2% 8, 11) 23 %8, 12)  4ggof 198

Answer: Answer: Answer:
13) 66 + (-1) 14) 42+ 2% 15) 16/ x 13/,
Answer: Answer: Answer:
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16) 16/¢x 13/, 17) 145+ 22 18) 14,-13,
Answer: Answer: Answer:
19) Factorised? + 12d + 20 20) 167, - 71g 21) (n+1
Answer: Answer: Answer:
22) 4 34-6 1 23) 4 34-6 1 24) 28/ x 1%/
Answer: Answer: Answer:
25) 28/ x 1% 26) 285 x 1% 27) Increase38by Y/,g
Answer: Answer: Answer:
28) Hgx 171, 29)  Increase 44 by 25% 30) Increase 44 by 25%
Answer: Answer: Answer:
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31) Y, +%, 32) Decrease 20 by 95% 33) - 19
Answer: Answer: Answer:
34) Yig+4, 35) 1 -6 3 36)  (-2)x1
Answer: Answer: Answer:
37) g x 61 38) Convert the following improper 39) 9,- Iy
fraction 4%, + 1%/ into amixed
number
Answer: Answer: Answer:

40) Factorisex? + 6x + 9

Answer:

41) Factorised? + 7d + 10

42) Factorisex? +5x + 6

Answer: Answer:
12 12 5 5 20/ 12
43) 111+ 910 44) 1 -4 g 45) I X 4l
Answer: Answer: Answer:

Copyright 2024 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Sr: 12032024-3503

Name:
B 11-PLUS
MATHS WORKSHEET [ EAS &3
March 12, 2024 GEMERATOR F. GCSEE .

46) Decrease 25 by 76% 47) W+ 15, 48) Convert the following improper
fraction 44/10 + 28/, into amixed
number

Answer: Answer: Answer:

49)  Increase 50 by 20% 50) (-5) x (-5)

Answer: Answer:
Total: /50
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